H £ 0l & AF & S

20248 =0ila eI M XIS 0

Al A

SA MSXIE L
33 M2 d 425 |4
el MENS |4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H=X2 ot 21,520,224 17,509,883 4,010,341
Jl 1,226,821
== 1,416,289
[Ea 18,877,114
2 Y dENE |4 5,886,549 5,894,759 18,210
Il 238,070
< 7,209
= 5,641,270
dEH=E |4 1,756,493 1,564,087 192,406
Il 238,070
== 7,209
o 1,511,214
HE= 22 275,400 283,200 A7,800
201 2= 14,240 14,240 0
01 AtR2t2lt] 14,240 14,240 0
Oget=ZH| 10,400,000 10,400
O=gH| 8,000& x4 120 3,840
202 0o4dl 9,000 10,800 /1,800
01 =LHNHI 9,000 10,800 1,800
OHSHA J2EX
150,000 x5+ 12 9,000
203 =] 4,000 4,000
03 A=A 2= 4,000 4,000
OMsas g2 =& 4,000,000 4,000
307 glztol & 248,160 208,160 40,000
02 2B YA HE X 248,160 208,160 40,000
OZddr dENsl=d X
170,000,000& 170,000
Ooldei=s XA 30,000,000 30,000
OH=3UR |54 X&E 40,000,000 40,000
OMss33 AEMER X
8,160,000 8,160
dHeHs2s S 44,445 119,375 NT74,930
= 2,889
[Ea 41,55
307 gl2to| & 44,445 49,375 24,930
=S 2,889
s 41,556
02 QB HANEER 14,445 0 14,445
OdzH=us 24 7,245,000 7,245
[ 1,449
Ea 5,7%
OdgNsn=zd =29 7,200,000& 7,200




2A:

M X2 U MBS |4
ool dEHs =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,440
s 5,760
04 CIZHHAMAIRH 2 & 30,000 49,375 A19,375
ONgel & dEd=slzl N3
30,000,000 30,000
UM S EA BIXI(2SXIE) 455,8% 378,290 77,606
Il 173,013
o 282,883
307 212+01& 455,8% 378,290 77,606
7l 173,013
= 282,883
02 LB HAHE L 455,8%6 378,290 77,606
OdEtda S A BHIXIAY 2
2,607, 7503 x11E+ 123 344,223
Jl 172,111
Ea 172,112
OBttt AE2s 282
164,000&*11 1,804
Jl 902
[Ea 902
OgbtlatfSI X 2SI
109,869,000& 109,869
HEMMEHSXIZA BHXI(ZSXIY) 78,872 74,938 3,934
) 31,457
o 47,415
307 @12t01 & 78,872 74,938 3,934
Il 31,457
o 47,415
02 B AAHE L 78,872 74,938 3,934
ONZSUMEHFSXIEX BIXIAIY =
2,607,750 «2E« 12 62,586
Il 31,293
= 31,293
ONZMMEHEX I NS B8
64,0002 x2&H 328
Il 164
s 164
O0Z2AMEHSACH 25X
15,958,000 15,958
AHIATO0IEH KA 48,000 73,338 N25,338
Jl 33,600
< 4,320
= 10,080
301 EtE NS 48,000 73,338 N25,338
Il 33,600




SA MSXIE L
M X2 U MBS |4
el MENS |4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,320
2 10,080
R Eh EESTE)) 48,000 73,338 225,338
OAEZAT0IBH KRAI
48,000,000& 48,000
Jl 33,600
< 4,320
= 10,080
S 20tctENz X 250,000 225,000 25,000
307 elzto| & 250,000 225,000 25,000
04 CIZHHAMAMH 2 & 250,000 225,000 25,000
OHZ0IUENS EX(SOESAMAH L&
) 250,000,000 250,000
HEEH 28X 603,880 409,946 193,934
307 @120l & 603,880 409,946 193,934
03 LM EHE2SHIEX 603,880 409,946 193,934
OBEAZZIY 2¢ X2
270,000,000 270,000
Ostuog(etE]) 2Zx38 29 N
20,000,000& 20,000
OM=3 28 A& 313,880,000& 313,880
dEHENE 4,076,776 4,264,392 A187,616
=712 M=z =XAH 2,490,776 2,835,392 A344,616
101 e124d| 15,776 15,392 384
M ORNZZ2NSE S 16,776 15,392 384
OMSHAI | 215l
78,8803 x10H 203 16,776
201 Ler23| 85,000 90,000 25,000
01 At2teltl 15,000 20,000 /5,000
Od=7112 MSUA 2H=25 & E2=S
el 15,000, 0002 15,000
03 A2 Y| 70,000 70,000 0
OFRTH9| KB B20¢ M
1,000,000& 203! 20,000
OF2 ga SaE BHRA LX)
30,000,000& 30,000
OAPHEl AIE2 &8l Xt
20,000,000 20,000
307 @I2t01 & 2,350,000 2,690,000 340,000
04 QIZHHAMAIH 2 £ 2,350,000 1,620,000 730,000
02024 =X =15 =20Uzl XE
530,000,000 530,000
O2024 =K =18 =203 X
530,000,000& 530,000




2A:

g M2 & dEH=s |54
el dEHSE (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OHRMI322l K& d=0A=U X3
430,000,000 430,000
O& =0t Sotel Uz
160,000, 0002 150,000
ONIRAEIYE20E N
165,000,000& 165,000
OF2 U TO9l WSBAL X
250,000,000 250,000
OdXlzd |Xl 295,000,000 295,000
401 AIEHIZ SR THYI 40,000 40,000
01 AlZHI 20,000 20,000
ONMSA 2 AIZ&= EH|
20,000,000 20,000
04 HAR2E AIZHI 20,000 20,000 0
ONSAL 23 A= £
20,000,000 20,000
ANY2sdIIR NE 320,000 320,000 0
301 2N = 320,000 320,000
2=t - 2SRS2H= 320,000 320,000
Ozd =48 29 320,000,000 320,000
M= =l K& 776,000 704,000 72,000
307 212t01& 776,000 704,000 72,000
02 QIIHAANSEE R 696,000 704,000 A8,000
OFLTUHASH X2
330,000,000 330,000
Oz A==l ALK 31,000,000 31,000
OSSE?| HSBA X2
104,000,000 104,000
O=3g HMIHA X2 60,000,000& 60,000
O=2l A22I| i3l K&
51,000,000& 51,000
Odt&tA ===t SMut=U=l XA
120,000,000 120,000
04 QIZHHAIAIE E & 80,000 0 80,000
O=cisteldtl d=1ct2t =ZU3
40,000,000 40,000
O=ciete &bl &= =EI0IEZ Uz
40,000,000& 40,000
FaE HE Sz 490,000 405,000 85,000
307 212+01™ 490,000 405,000 85,000
02 QIRHEAAIHE X 490,000 405,000 85,000
O=ad s sdlx 40,000,000& 40,000
OgtErC V12 28 X1& 70,000,000& 70,000
O=HErC Ut 28X 25,000,000 25,000
Og&EFC UIB 28 X& 275,000,000& 275,000




2A:

M X2 U MBS |4
el dEHSE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOIZHI0IAZSEE U 2S X
30,000,0002! 30,000
OoizHl0|AE2Y 2ATIY
50,000,000& 50,000
ARX0OBE 2dst 53,280 66,280 A13,000
AZXR0OE =8 53,280 66,280 A13,000
201 2= 47,880 57,880 10,000
01 AlR22IH| 47,880 57,880 A10,000
OAZZ0HIEY L H2ARUE SXX
5,000,000& 5,000
OBYFC 272 LE0ZD(18371)
25,000,000 25,000
OZ2E=8 M 15,000,000 15,000
O= gl 8,0003*x3& 120! 2,880
202 04l 5,400 8,400 23,000
01 SLHoIH 5,400 8,400 /3,000
OAZXOIHE LA
150,000 x3&* 12 5,400
el ME2dst 204,467 66,240 138,227
7l 38,751
= 9,080
o 156,636
Zojel SXSH 204,467 66,240 138,227
Il 38,751
= 9,080
Ea 156,636
el MEgdst A2 204,467 66,240 138,227
) 38,751
= 9,080
= 156,636
301 EtE NS 33,000 0 33,000
Jl 23,100
[ 2,970
T 6,930
01 AR 2EHSHS(RNEERTH) 33,000 0 33,000
O Ax=2%0/22 K&
33,000,000& 33,000
Jl 23,100
< 2,970
[Ea 6,930
307 lztol & 171,467 66,240 105,227
Jl 15,651
< 6.110
[Ea 149,706




SA: HSTRD
M ZOe ME2dst
s ool SXsH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 75,548 66,240 9,308
OF0je! MSS0t2l X2
12,220,000& 12,220
= 6,110
Ea 6,110
OO0 M=&AL X2 26,240,000 26,240
O H&HSXEA 22|
37,087,200 37,088
Il 15,651
= 21,437
03 P HHEHE 22X 95,919 0 95,919
OZUAHM=F=l AHR= 24|
95,918,070& 95,919
HEHE |54 15,411,288 11,507,775 3,903,513
Jl 950,000
< 1,400,000
[Ea 13,061,288
H=AE 2l 4,087,888 5,276,375 1,188,487
Jl 950,000
s 3,137,888
SEMS2 2 628,668 570,280 58,388
307 elztol & 598,668 473,280 125,388
05 2IHRIE S 598,668 473,280 125,388
OBEHS A2y
49,889,000& x12& 598,668
401 Al HIZ S OHbI 30,000 60,000 /30,000
01 AlZ2H| 30,000 60,000 /30,000
Ogdds2 ==AIZ4E A
30,000,000& 30,000
H=sSE 2l 1,329,231 1,511,084 181,853
101 @124H| 323,151 315,284 7,867
M ORINZZ2NSE S 323,151 315,284 7,867
OdgN=s3d 2 AFY 187,087
—Jl2= 78,8803 * 112 %160 138,829
-5+ 78,8802 x11H*32& 27,766
—4HEE= 166,595,000 *12. 3% 20,492
OEd0I7E & SSUHSE La==F
ANEZE 2e| 2y 136,064
—Jl2= 78,8802 x82H 160 100,967
-5+ 78,8803 x8 32! 20,194
-4 282 121,161,000 *12. 3% 14,903
201 er23 | 431,080 410,800 20,280
01 At22t2lt] 17,928 17,928 0
Odgt=3ZH| 6,000,000& 6,000




2A:

PN

M dEHE |54
=Rl MSsAlE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OM=34 U =284 2elgs+Y
400,000 12& 4,800
ONMEEa 22l M| S5+
1,320 %5001 90 A% 123 7,128
02 s3=gHl 413,152 392,872 20,280
OZ33x2= & HMAl 383,040
—H=s3d dJIes 159,840,000 159,840
—Z2HSEsE 5728 I8 ML=
7,000,000 12& 84,000
—SH0E RS
100,000 »12& 1,200
~8FASTY F7E TYE ®II93
1,800,000& «12& 21,600
—IJleldEsd 5728 88 ML=
700,000 * 122 8,400
—SHMSE2 N0 ESY dotrTAER
9,000,000& ~12& 108,000
O ZH| 4,992,000 4,992
OAlE &I Xl 25,120
—&CIR01 D123 LA
5,000,000 5,000
—IRHSSE dotE2Ae| i =3
130,000& «12& 1,560
NS S| HHBRGY 248
220,000 * 122 2,640
—2UHSTY FIQGEBRIHY +aB
450,000 123 5,400
—EXHSDY MIQHBURIUH 448
140,000« 12& 1,680
—H=S3E 0ISA o 2a+H
80,0003 44 A+ 128 3,840
—ATEZY 23 WA 5,000,000& 5,000
206 M=H| 15,000 15,000
01 M=8l 15,000 15,000
ONSZE II2s A257Y
2,000,000& 2,000
OME3d =22 Hlgg
5,000,000& 5,000
OMs=d TCj2el AL
5,000,000 5,000
OHUAY, ERF2| 2237Y
3,000,000 3,000
307 glztol & 30,000 30,000
02 2IZHBHAIHE £ 30,000 30,000
Odgxs S22 &M &JIes NE
30,000,000& 30,000
401 AIEHIX R0 530,000 740,000 A210,000
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DOMSAE L
D dEHE =4

D HSAE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ZH2ER AgoEzoE caz
400,000 12& 4,800
—SEANOIES S2I| AT 2CIHS ==
= 0002128 2,640
—STHOIESE LALAM2AC Y ==
= 220,000 122 2,640
202 04l 7,200 7,200
01 2LHoIH 7,200 7,200
OMSAIE 2l 24
150,000 x4 * 122 7,200
206 MH=H| 12,000 12,000
01 M=4l 12,000 12,000
OZ242sE &b2el AW
10,000,000& 10,000
OBL2SSH 2ol HOE 7Y
2,000,000& 2,000
401 Al HIZ S 0HbI 70,000 1,169,676 1,099,676
01 Al&H| 70,000 1,163,376 1,093,376
OBEESE =AIE 3l
30,000,000 30,000
Os42sd atl2el 20,000,000& 20,000
OEdHZEIE =SAIE
10,000,000& 10,000
OMEHSHLIAZY “SAIE FH
10,000,000 10,000
SEIE2SE NWESAS (2EA) 1,900,000 1,900,000 0
Il 950,000
o 950,000
401 AIEHIZ SR 0HYI 1,900,000 1,900,000 0
Jl 950,000
T 950,000
01 Al&H| 1,893,160 1,864,090 29,070
OSE2SE HEFA (2EA)
1,893, 160,000& 1,893,160
Jl 950,000
[Ea 943,160
03 AIZSTHYI 6,840 6,840 0
OZE2sE MHESA (2EA)
1,900,000, 000& *0.36% 6.840
HEAL=S 11,323,400 6,231,400 5,002,000
& 1,400,000
= 9,923,400
HEHSAIE &S 332,400 3,402,400 A3,070,000
201 Ler23| 2,400 2,400 0
2 s5=34l 2,400 2,400 0




2A:

PN

I dEHE |54
&2l M=ALES (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUENMSAE S8R=
200,000 * 122 2,400
401 AlEHIZ S 0HbI 330,000 3,400,000 3,070,000
01 AlZH| 330,000 3,385,870 A3,085,870
OFAUEE 57 A& 2=+
330,000,000 330,000
S USRMS2 MAS(HEAY) 6,271,000 1,429,000 4,842,000
< 500,000
= 5,771,000
401 Al HIZL 01| 6,271,000 1,429,000 4,842,000
= 500,000
= 5,771,000
01 Al&H| 4,748,505 1,423,855 3,324,650
OEd USHASsS A=A
4,748,505,000& 4,748,505
= 500,000
o 4,248,505
02 2/l 1,500,000 0 1,500,000
OEd U=HMs2 A=A
1,500,000,000& 1,500,000
03 Al 2 CHHI 22,495 5,145 17,350
OEd USHASA A=A
8,998,000,000& *0.25% 22,4%
He=0HSME 2HE 1,500,000 1,400,000 100,000
401 AIZHIZ S THE 1,500,000 1,400,000 100,000
01 A28l 1,471,650 1,374,240 97,410
Ot=2IMsdH 2HE
1,471,650,000& 1,471,650
02 Zeltl 22,950 20,720 2,230
OULRLHSHE A
1,500,000,000& *1.53% 22,950
03 AIZ 2 THYI 5,400 5,040 360
Ot=2MsdH 2HE
1,500,000, 000& *0.36% 5,400
S8 M=Ald= Zdl 220,000 0 220,000
401 AIEHIZ SR 0HYI 220,000 220,000
01 Al&HI 220,000 220,000
Oorl2371+ &bl 100,000,000 100,000
os¢as=d 9 ZHFH|
40,000,000& 40,000
OFEMssE =& 30,000,000 30,000
O2AEE =& dHl 50,000,000 50,000
EF Z0NSY MASEE ZHAY(HEALY) 3,000,000 0 3,000,000
< 900,000
s 2,100,000




2A:

E M

MSXI2 D
MBS R4

&2l M=ALES (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 3,000,000 0 3,000,000
= 900,000
= 2,100,000
01 Al&H| 3,000,000 0 3,000,000
OZF 2B M= ZEAMY
3,000,000,000& 3,000,000
=S 900,000
s 2,100,000
HY2AZHI(HMSXZ D) 17,920 21,850 23,930
=3l 17,920 21,850 23,930
Jl=23H] 17,920 21,850 A3,930
201 er2 3| 7,120 8,650 1,530
01 AtR2telHl 7,120 8,650 1,530
Odgt+==H| 7,120,000& 7,120
202 04| 7,200 9,000 21,800
01 2LHAHI 7,200 9,000 21,800
O=RMSL (A, HOILH, S35 &4 3)
600,000 * 12 7,200
203 HR=&H] 3,600 4,200 2600
M EA2ER=A 3,600 4,200 2600
ORNEgE =AY 300,000& * 12 3,600




